‘0%°31°S paniasas sabueyd weiboud pue [eajUYIaL $00Z ©@ UIBISUBIY9aIT Ul palulld | 8-0 0G0 €562 M UBBYDS “*d109 IH JO dlewapely paslsiBal = njiH

WO MIY MMM

ureIsusIyIAIT Jo Anedioutid

UEBLIS ¥6Y6-T4
uoiye100109 HiIH

‘Buipjam ou pue ajqerjal “4enpo

"SpJBpURIS [RUOIRUIAIUI UABULIS YUM

9ouepJooge ul panosdde pue pajoadsul ‘paisel Usaq aney 's19npoud swalshs
SwaisAs doisail) Ino O ||y "8J14 10 JUBAS 8y} Ul uoljeawad uoIB|[BISul IHIH YUM 8sn 10} SUOIN|OS [eap! 8y} apiaoid sioyd
9)OWS JO XSII B SI 8J3Y} 848yMm Spuly |[e AjjenuiA Jo suoi -Ue [e9IuByIaW pue [ealwsay) ‘suonealdde Buiusisey Jo 1aq
-eljauad pue sbuiuado 1oy suoinjos doisall sapinodd iyiH -wnu abny e 1o} apimppiom paroidde ase swalsAs Joyoue 1IH

swa)sis dojsalig

swa)sis loyauy

‘1o/e| U0119910.4d UOIS0JI09 31 0] abewep JuaAald 01 paubisap

Alle1oads usaq Sey Sweaq 991s U0 asn 10} pnis 1g-X Mau ay|
"PIOY 84n29S AJ9WUaIIXe UB J0J — UBALIP SI }I YIUM 01Ul [BLId)

-BW 91 pUB PN3s J0 |ieu ay1 usamiaq puoq Huouns Ajjeuondad

-X8 Ue SNyl pue 1998 Bulisjuls e sasnea uonesisuad Buunp
pajelaush 1eay ay) ‘AIUOSBLI JO 81610U0J |98)S OUI SPNIS *9184NJJR 940W pue JayaInb UaIses Juswubije [RIIAA
papeaJy] 10 S|ieu aALIP Ajajes S|003 parenioe-1apmod S,11iH pue Buljans| ‘Burinseaw ayew swalsAs Buunseaw 1314

-

N

£

wajsis Joddns ua_n jeuisnpul |IN BH

. 4 : ..A%.”’
~ 4 [l AN !

Auluajsej pajenjae-1apmod swid)shs hulinseap

-aoualayip ay} sayew Ajduns njiH buois ‘ajqeldepe ‘ajdwig

Cover all load ranges with Hilti Ml and MQ! Higher efficiency — with Hilti design software.

Long before the structures are
@ Mi System installed, the professional industry-
standard 3D software from Hilti gives
The modular pipe support system for medium and heavy you complete freedom to design pipe 3 RAEQ K BEIBBEE # 0w e
loads that requires no welding: The Hilti MI System is the supports based on the Ml System, thus
easy-to-install, absolutely reliable solution for pipes of up to reducing planning time and keeping
600 mm in diameter. It has been specially designed to take costs to @ minimum.
up loads acting horizontally on the support system (torsional
forces).

Hilti PROFIS installation

| Hilti PROFIS 3D CADLib for 3D modeling
of pipe support systems. The designs s AR TR G S50 wii
from the Hilti MI and MO product port- : :

folio can be exported to most popular
The well-proven Hilti MQ System for lighter loads provides CAD programs.
a versatile extension to the M| System. Ideal for supporting | Parts lists are generated automatically,
and securing pipes and cable trays. thus simplifying the ordering of compo-
nents and the preparation of documen- Y D e

.Hm.:OD . i R Trkiar Zvart Wl AT | knga v [IKD A G0N R 400
m Compatible with all major planning soft- :

(3) The right connection ware.

Provides the strength of welded structures, but with much Hilti PDS E—um m:c_uo:
higher efficiency: A patented crimped-in depression in the

MI framing sections ensures a secure connection between m PDS software for 3D modeling and ma-
parts of the two modular systems. Forces are taken up opti- nagement of pipe support systems
mally and assembly is simplified by the exact fit of the fram- based on the components of the Hilti
ing sections and channels. MI and MQ product portfolio.

m The design drawings required for instal-
lation of the supports can be created

from the 3D models with a single click
Profilauswahl Einfeldtriiger max. Belastung bei f<1/200 mittige Einzellast of the mouse. These include several
2D views and show locations on a sit-
900 I D I - uation plan.
45.0 11 borfed G M0 L m Parts lists are generated automatically,
1Y I s /2 N D V72 [ o [ MQ-21D-F thus simplifying the ordering of com-

400 = N | ----mo-41F ponents

35.0 \ /g/_._g — MQ-41D-F || :
= \ ---- MQ-52-72D-F { — .
= 300 N H gt HL
8 AS / G0 G50
= 950 N mi-a0 = _
NS 4 H o
[TT]

. Sq <]
15.0 - —
MQ-52-720-F ~4_. ~—| |
10.0 MQ-420-F T =4 —1
5.0 = l-_. _go.hu._.m —— i i SEE 3 il el E5F S
0.0 " moaimE |
25 75 125 175 225 275
Spannweite [cm]




MI connection to steel heams

Steel beam flange width B

.

130

197,5

PN

2125 ‘

0-A 304812 | MIC-S90-A-[L] Welded bracket 1, ., | MIC-S120-A 304818 | MIC-S120-A-[L] Welded bracket .. | MIC-SA-MA 304815

304798 | MI-120 3m 304800 0-B 304813 | MIC-S90-B-[L] Welded bracket see MIC-S120-B 304819 | MIC-S120-B-[L] Welded bracket see MIC-SB-MA 304816

304799 | MI-1206 m 304801 304803 304804 304805 304807 | MIC-U-MA 304806 | MIC-S90-AA 304811 | MIC-S90-C 304814 | MIC-S90-C-[L] Welded bracket ““**** | MIC-S120-C 304820 | MIC-S120-C-[L] Welded bracket “***® | MIC-SC-MA 304817
MI connection to concrete MI framing section extensio Mi connectors hase plates for steel/concrete  MI basic connector for weld
s \ 20 140 110

5
2. 0'730
3003
w

150

101

MIB-SA 304821 ‘}\
MIC-C90-D-[L] Welded bracket MIC-C120-D-[L] Welded bracket MIB-SB 304822
MIC-C90-AA 304825 | MIC-C90-U 304826 | MIC-CU-MA 304828 | MIC-C90-D 304827 | Item no. see catalogue MIC-C120-D 304829 | item no. see catalogue MIC-90-E 304809 | MIC-120-E 304810 | MIB-SC 304823 | MIB-CD 304830 | MIC-SC90 304824 | MIC-SC120 304808

N

MI pipe clamps for insulated pipes Plate for weld MI pipe support for insulated pipes Twin roller sup

Low-friction plate for Sliding support Rigid support Spacer plate Adaptor plate Adaptor for weld-on tabs
sliding support MIC-PS90 304838 | MIA-B090-M12 304840 | MIC-PSP-4 mm 283593 | MIC-PA90 304836 MIC-SPH90 304843 | 1 pipering, 1 rib 2 pipe rings, 1 rib Heavy-duty pipe support DN 200400
MIC-PG 304842 | MIC-PS120 304839 | MIA-B0120-M12 304841 | MIC-PSP-6 mm 283594 | MIC-PA120 304837 MIC-SPH120 283592 | MI-PS1/1** **DN25-150 | MI-PS2/1** **DN25-300 | MI-PS2/2** **DN200-600 | MI-DPR 304880

Mi beam clamps MQ pipe conne

Pipe support connector for insu-
lated pipes

MI accessories

M12x 85 - 8,8

36,6 ‘ 72

2% N y -~ .‘ - it - > -
/\ \ 12,2x12,2 | = - i : : : = h h
: — eSS : by 1 by 35\\
95/127 v = =il
120/150 " - e U L LE
| M12 B
\ \\lal\

y
)

«

%

llllllllllllls

‘l’l

w
{=2]
[=2]

0

WWLLLLLLELLLL G

<~ P
d M12
Spacer plate
MIA-OH-90 304889 | MIA-EH-90 304887 | “Easy hand” plate Self-locking collar nut Toothed plate **NW25-NW 65 **NW100-NW 250 MI-GCD-6 mm 283590 | MQ pipe support connector
MIA-OH-120 304890 | MIA-EH-120 304888 | MIA-EH-P 304891 | M12-F hex. collar nut 283589 | MIA-TP 305707 MI-UB**-M10/M12 **304870-4 | MI-UB**-M16 **304875-9 | MI-GC-M12 304894 | MI-GCD-12 mm 283591 | MQV-PS 304386
Standard accessories Pipe clamps for insulated pipes MI/MQ connectors MQ pipe conne
s For U-bolts and uninsulated pipes
d 65x13 49 B5x13 49 65x17 49 Box17 49 |
‘ DI
W ~ $ ‘
)))r,n)””’”’”” W Y :ts ?@
m),,))”” - z m M L
Z @ e 26x13,5 26x13,5 26x135 26x135
e \ 90 96 \ 90 96

AM10-F1m 304773 90 90
AM12-F 1m 304774 ~ MN [~ ‘%*“
AM12-F1m 304775 | M10x 25-F 304788 | M10-F 304765 | A10,5-F 304770
AM16-F1m 304776 | M12x 25-F 304789 | M12-F 304766 | A13-F 304771 | GR-G %'-F1m 304780 MI-MQ Cross connector MI-MQ In-line connector U-bolt bracket

AM16-F1m 304777 | M16x 30-F 304790 | M16-F 304767 | A17-F 304772 | GR-G%"-F1m 304781 | MIC-UB90—M12 304831 | MIC-UB120—-M12 304833 | MIC-UB90-M16 304834 | MIC-UB120-M16 304835 | MIC-UB90 L400 304832 | MIC-MI/MQ-X 304881 | MIC-MI/MQ-M8 304882 | MQV-UB-M12 304884

Example of applications

T

7
Xy
Y/

96/126

MIA-EC-90 304892 | Connection to steel beam Connection to steel heam Cantilever arms at same height
MIA-EC-120 304893 | Flange width < 320 mm Flange width > 320 mm Flexy pack Pedestal connector Cantilever brace 90° Connector MI-MI on each side U-frame Lorraine cross Cantilever U-bolt fastening Connection to steel beam

Please refer to the technical documentation for detailed information.



